Let P be the point (1, =4, —3). Let O be the point (=1, =2, 5) . SCORE: _____ /18 PTS
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Let R be the point such th PR=2'——2£.
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[a] Find the coordinates of R .
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[b] Find the vector of magnitude 6 in the same direction as PQ.
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[d] Find the equation of the sphere with P and Q as endpoints of a diameter.
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[e] Find the angle between Fé and Fé . (Your answer should be in radians.) @
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Write vector & in terms of vectors & , d and/or f in the diagram below.
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Consider the sphere with equation x° + y* + 2% +12x -8y +2z+5=0, SCORE: /7 PTS

[a] Find the equation of the Xz — trace, and describe that trace clearly and briefly.
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[b] If you start at the center of the sphere, then move 3 units down and 2 units to the right, find the coordinates of where you are now.
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SCORE: /3 PTS

Find all octants in which xyz > 0.
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